A
T

MIEEZ0ELELLE - ERTE (BE3IR)

EHFES 18-12-25-034
BiERa%E NN HERER
EAH - 5B B BEBE - EERE
&R =ZhE

EEEK 0E
FERS| BEE
FHIER HBLEXE
FEER HALREE
Bo#y IHBE




WIER FMTEEZ BT ECLE-ERTE (E3R)

% g - AKTiE Bifr B 2 B i & #B w E
EEIEE 37,529, 998
FiEIEE 5,394, 744 + 9,743,916 15,138, 660
HBEREE GD 1,540,900 + 3,487,729 + 366,115 5,394, 744
HBERHE (BLE) 1,540, 900
HBERER (F) 38,538,446 x 9.05% ((7.37% x1.00 +1.50%) x 1.02) 3,487,729
BERERER 38,538,446 x 0.95% 366, 115
RnEER 42,924,742 x 22.70% ((20.91% +1.13%) x 1.03) 9,743,916
e i 37,529,998 + 15,138, 660 52, 668, 658
—REEES 52,668,658 x 18.48% (18.48% x 1.00) — 2,892 9,730, 275
RFIIRELE 52,668, 658 x 0.04% 21,067
T &l 52,668,658 + 9,730,275 + 21,067 62, 420, 000
HBETEALE 62,420,000 x 10.00% 6, 242, 000
EEIZE 62,420,000 + 6, 242, 000 68, 662, 000
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% # B4 - AR o y B B 2 = W =

BEEISE 37,529, 998
e (-10m) (HKE) 37,529, 998
T 37,529, 998
TREERE - B 37,529, 998
REXHWHE 19, 706, 400
1 RELHHE 6, 900. 00 2, 856 19, 706, 400

m 3
R ITHERA - Efk 17,823, 598
2 BR 5, 387.00 275.3 1,483, 041

m 3
3 FEAW-1) 5,387.00 234.9 1, 265, 406

m 3
4 TRYEEH (1) EEWINIE 2,694.00 2,430 6, 546, 420

m 3
5 THEER (2) EETREE 2,693.00 3,038 8,181,334

m 3
6 Eifh 2,693.00 129 347,397

m 3
HEBREE FEL) 1, 540, 900
HBRZE 1, 540, 900
EXBERHLEESRE 1,008, 448
REX® 1,008, 448
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% L] His - BAIKTHE AL - B ® # m =

1T AHER 1.00 445, 556 445, 556

=
8 ANy YVEH 1.00 440, 640 440, 640

=
9 BHXR\y UHE 2.00 61,126 122,252

a
] 412, 452
TEXE 412, 452
10 XBFEERE 1.00 412, 452 412, 452

=
RifTEEE 120, 000
Bl EE 120, 000
1 EREDRNE 1.00 120, 000 120, 000
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2% - RELRHER 350m3% L) (350m 3)
£ 7 R - KT By B = B Of € # B &
HEER
A 1.000 30, 700. 00 30, 700
LEEXE
A 2.000 23, 560. 00 47,120
RHES
B 1.000 214,003. 00 214,003
EMe# kR
B 1.000 109, 041. 00 109, 041
E{t 4t E£R7IR (hER2A4 )
t 17. 500 31, 500. 00 551, 250
AR L NOY
% 5.000 952, 114. 00 47, 605
= 5 1E%HEH : 350.00m 3 2,856.00 999, 719
5:2
2% BR Tm3&HY
£ 7 R - KT By B = B Of € # B &
B
m3 1.000 275.3 275.3
= 5 1E%HEH : 1.00m 3 275.3 275.3
%5 :3
B A1) Tm334yY
£ 7 R - KT By B = B Of € # B =
A (h-27)
m3 1.000 234.9 234.9
= it 1E%HEH : 1.00m 3 234.9 234.9
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&% TREER (1) EEFHIE 100m3% Y (100m 3)
£ 7 R - KT By = B Of € # B &
FUT b5 v EE 10t%%
B 4.000 60, 764. 00 243, 056
= it 1E%HEH : 100.00m 3 2,430.00 243, 056
E =)
& TREER 2) EEHTREE 100m3% Y (100m 3)
£ 7 R - KT By = B Of € # B =
FUT b5y 10t%%
B 5. 000 60, 764. 00 303, 820
= it 1E%HEH : 100.00m 3 3,038.00 303, 820
5:6
2 Bifh Tm3%HY
£ 7 R - KT By = B Of € # B =
Hih
m3 1.000 129 129
= 5 1E%HEH : 1.00m 3 129 129
E&S:7
B NNER 1LY
£ 7 R - KT By = B Of € # B =
S
A 27.00 16, 420. 00 443, 340
AR L NOY
% 0.50 443, 340. 00 2,216
= 5 1YE%HeH - 1.00K 445, 556. 00 445, 556
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EFS:8
2% EXR Iy VEH X2y
% FR A& - IR B 2 B i * % 1 w =
RNy VEH
5] 48.00 9,180. 00 440, 640
& &t fESRREN - 1. 00k 440, 640. 00 440, 640
FS:9
2% EXR/YYEE 1584Y
% FR & - IR B 2 B i * % 1 w =
HEER
A 0.30 30, 700. 00 9,210
EUT
A 0.80 29, 070. 00 23, 256
SI7TL—riL—y HERBO IR 16tR
5] 0.50 51, 500. 00 25, 750
MM 20
% 5.00 58, 216. 00 2,910
& F fE8EH : 1.00&8 61, 126. 00 61,126
£:10
2% RBFEERE X5y
% FR & - IR B 2 B i * % 1 w =
RXBEFEEREB
A 27.00 15, 200. 00 410, 400
MM 20
% 0.50 410, 400. 00 2,052
& F fE8EH : 1.00% 412, 452. 00 412, 452
&H#5: 11
&% EREPRRE X5y
% FR & - IR B 2 B i * % 1 w =
HEEPRHAE
I= 1.00 120, 000. 00 120, 000
& &t fE8EH ¢ 1,00 120, 000. 00 120, 000




